


PART B — (5 x 1

11. (a) Describe with neat sketch, tk
~ 4-bar chain.

f,.the extzeme posmons of the free end of
(16)

s fixed and is 15 cm long. The crank AB is
pm clockwise, while the link CD (whose
D. BC andADareofequallength.li‘md
enangleBAD 60°. (16)

the angular veloaty of li

hanism is 15 cm and the connecting rod is
0 rpm in the clockwise direction. When it
in d centre position, determine

fthaeonnechngrod and (ii) angulat

Thecrank of a slider crank
60 cm long. The crank r
has turned 45° from
(1) acceleration of the =
acceleratlonofthe connect:

dge follower when the ansOf
shaft from the following data:
40 mm during 60° of cam

| Draw the profile of a

the follower passes th
(@) Follower to move o
rotation,

(i) Follower to dwell for
. (iii) Follower to return to
@iv) Follower to dwell for
The displacement of the f
motion during both the o u
cam is 50 mm.

Drawtheproﬁ]eofa ' dge follower (when the axis
of the followet passes thre the a c ) from the following
‘data:
@ Foﬂower to move outward ; m with Simple Harmonic

10} thh uniform velocity :

tion. The least radius
(16)







